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Classe de 6°

Exercice 1

Effectuer les conversions suivantes :

1. 2,33m?> =.......... dm?
»2. 88, 7dm?=........ mm?
Exercice 2

Effectuer les conversions suivantes :

»1.39.2m? =.......... hm?
»2. 28 4m? =.......... cm?
Exercice 3

Effectuer les conversions suivantes :

1. 5,42m?> =......... dam?
»2. 89, 3cm?=........ mm?
Exercice 4

Effectuer les conversions suivantes :

»1. 3,57hm? =......... km?
»2. 4,45cm? =......... dm?
Exercice 5

Effectuer les conversions suivantes :

»1. 87, 4hm?=....... dam
»2. 7,65cm® =......... dm?

Exercice 6

Effectuer les conversions suivantes :

»1. 9,51hm? =....... dam?
»2. 94dam? =.......... dm?
Exercice 7

Effectuer les conversions suivantes :
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19,1m? =.......... dm?
26,9cm? =......... dm?
6,86dam? = ....... hm?
78dm?=.......... dam?
35,9dm? =.......... m?
3,62dm? =........ mm?
28,8dam? =....... hm?
59,2km? =......... hm?
1,29m? =......... dam?
1,82km? =......... hm?
4,97cm? =.......... m?
87,1dm? =......... cm?
4,07hm? = ....... dam?
56,6cm? =.......... m?
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31,1dam? =....... dm?
36,1hm? =......... km?
4,06cm? =........ mm?
46,1dam? = ....... dm?
54,5m? =......... dam?
8,76hm? =.......... m?
85,6dm%2 =......... cm?
2,87Tm? =.......... cm?
75,5cm? =......... dm?
Tkm?=............ hm?
40,6km? =......... hm?
50,2dm? =......... cm?
61,6km? =........ dam?
12m?=............ cm?
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